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Lesson 3-

Auto Service Technology Level 2

Multiple Choice
Identify the choice that best completes the statement or answers the question.

1.

Technician A says EEPROM is also called flash PROM. Technician B says EEPROM is also called RAM.
Who is correct?

a. Technician A.

b. Technician B.

¢. Both Technician A and Technician B.

d. Neither Technician A nor Technician B.

Technician A says sensor inputs supplied during specified driving conditions are known as parameter
identification data (PID). Technician B says sensor inputs supplied during specified driving conditions are
known as enabling criteria. Who is correct?

a. Technician A,

b. Technician B.

c. Both Technician A and Technician B.

d. Neither Technician A nor Technician B.

Technician A says a “trip” monitor is a diagnostic procedure in which all of the enabling criteria for a “trip”
are met. Technician B says a monitor is only performed when the PCM receives specific sensor inputs. Who
is correct?

a. Technician A.

b. Technician B.

¢. Both Technician A and Technician B.

d. Neither Technician A nor Technician B.

Technician A says enabling criteria are diagnostic tests performed at specific time intervals. Technician B
says there are no enabling criteria in OBD-Il. Who is correct?

a. Technician A.

b. Technician B.

¢. Both Technician A and Technician B.

d. Neither Technician A nor Technician B.

Technician A says OBD-II systems are designed to ensure accurate monitoring and operation of all
emission-related systems and components. Technician B says OBD-1I systems are not able to detect
emissions related problems caused by the degradation of systems and components. Who is correct?
a. Technician A.

b. Technician B.

c. Both Technician A and Technician B.

d. Neither Technician A nor Technician B.

Technician A says a passive diagnostic test can be used to check the performance of a component.
Technician B says a passive diagnostic test can be used to deactivate the enabling criteria. Who is correct?
a. Technician A.

b. Technician B.

¢. Both Technician A and Technician B.

d. Neither Technician A nor Technician B.
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